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a) W f,g,h € Q). & flh,glh, B f,g BB, W fg | h.
b) B f.g WREETR, W (0] = ¢ J{ ’fq - CEIBPHIEE, B .01 =

¢) (f*,9") = (f,9)". (BHEN AN KA LR T LA e KA ? )

C(EAREE)  UE] Q BEAEEHZ I, £ Q EAARME, BAEEZ 2 R R
- GE, ZEAMMGE Y

[lf, 91, 0] = (£ 19, B],  [f. (g, P)] = ([, 9, [f: RD), (19, R]) = [(f, 9), (£, h)].

. UEBHRREL f(z) = sin(z) DEERA AL Z TR,
C R 25 4 T2t + 1823 + 2222 + 132 + 3 WA AT 4 R

B fo) RAEREETA, o,b, c REATRIREL IERAT R
fla)=b,f(b) = ¢, f(e) = a.

CAFE: 2?44 1] (@3 2B 3R ot ke N,

C(RERA) W f 2 Q B REEAZIR, u s fE C FHI—MR, Qu] = {h(u) | h(x) € Q[x]}.
WEB

(a) Qu] = {h(w) | h(z) € Qa], degh(x) <n - 1};

(b) Qu] X,

CAEWL: UM A, B,C, D ETIF LB N : GEERAN 0 BN, p, vy, 8 A+ pu+v+w=0,
3 H AOA + 4OB 4 vOC + wOD = 0. il O FAEE 5.

m:iar+y+z+1=0,
mix+ay+z+2=0,
m3:x+y—2z+3=0,



